
P

c

a

Aufgabe 4



Aufgabe 6

b = 36c = 39

a = 15

α

β



Aufgabe 7

f(x)

x

0 321 4–2–3 –1–4

0

3

2

1

4

–2

–3

–1

–4



Aufgabe 12

160

140

120

100

80

60

40

20

0

180
h(t) in m

t in s

9630 12

h



Aufgabe 16

f′

x

2

3

1

0

–1

–2

–3

3210 4–1–2–3

f(x), f′(x)



Aufgabe 17

f(x)

x

f

x1 x2 x3
O



Aufgabe 18

f(x)

x

543210 6–2–3–4–5–6 –1

f

0

5

4

3

2

1

6

–2

–3

–4

–5

–6

–1



Aufgabe 23

€ 0

€ a

€ a

€ a 

€ 0

€ 0

€ 4 ∙ a

€ 2 ∙ a



Aufgabe 24_1 bis 24_5

24_1

24_2

24_3

24_4

24_5

P(X1 = k)

0 1 2 3 4 5 6 7 8

k

P(X2 = k)

k

0 1 2 3 4 5 6 7 8

P(X3 = k)

k

0 1 2 3 4 5 6 7 8

P(X4 = k)

k

0 1 2 3 4 5 6 7 8

P(X5 = k)

k

0 1 2 3 4 5 6 7 8



Aufgabe 25c

f(x) in m

x in m

Wasserrutsche f

O



Aufgabe 26a

Aufgabe 26c

Start

3,1 km

Gipfelhaus

Abweichung in %

0,04

0,03

0,02

0,01

0

0,05

454035302520151050 50



Aufgabe 27b

76543210
0

1,6

1,4

1,2

1

0,8

0,6

0,4

0,2

1,8

I

m in kg

Ratte

Katze

mR mK

I(m) in L
h · kg



Aufgabe 27c

0
0

u(
t) 

in
 L

/m
in

t i
n 

m
in

t 1

u

d



Aufgabe 28c

82
,8

 %
74

,8
 %

79
,0

 %
78

,0
 %

63
,5

 %
87

,3
 %

77
,1

 %
71

,4
 %

A
ng

eb
ot

 a
n 

S
itz

pl
ät

ze
n

be
fö

rd
er

te
 F

lu
gg

äs
te

W
ien

 – 
Lo

nd
on

W
ien

 – 
Ber

lin
W

ien
 – 

M
os

ka
u

W
ien

 – 
Rom

W
ien

 – 
Brü

ss
el

W
ien

 – 
M

ad
rid W

ien
 – 

Kop
en

ha
ge

n

W
ien

 – 
Dub

ai

1 
50

0

1 
20

0

90
0

60
0

30
0 0

1 
80

0

Anzahl in 1 000


